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St 210
- Xt= XA 150,000& » 104 150
- AsA A= 60,0002 * 1CH 60
st= Xt 600
- XS XAl 100,000& * 30H 300
- NS M= 100,000& * 3CH 300
O 8IMNERES 40,000 * 9CH = 23 720
O OIEX(EE) 60,0002 * 304 180
O AMEE2 SZHNERLES(FEA)
390,000& = 23| 780
O ANdg s edI2(dtad)
5,000& = 23] » 4014 760




N sEXNZD
M HER2GFU(sEXNT )
chelr D123l
SA BB O () - NRAY - HES 0l &+ o4 il
O AM&E &Y s Xl 2,000
O EFAMRIIIl sX2eltl
200,000& = 10CH 2,000
O X+g - &kl 22,500
O sJ/H 94U g2 (fFU, FHIKX
g, A2F4]) 22,500
SEX 2,200,000& =« 5CH 11,000
SEX 2,500,000& = 1CH 2,500
ISI=—=N; 3,000,000& « 3CH 9,000
203 R =&l 4,200 4,200
04 EAN2IHRFEHI 4,200 4,200
0 sEXN&n 350,000& = 12& 4,200
204 MR=HAH| 1,200 1,200
01 Mg 1,200 1,200
0 s HE 100,000& = 12& 1,200




